FhHnY 2% | B8 | T | 7T~8m | 100mEAX KL — |'1:57.77
PE RE 2% | B8 | T | 7T~8m | 100mfEAX KL — |'2:08.55
/S NEE 2% | B8 | T | 7T~8m | 100mfEAX KL — |'2:04.80
wE A 2% | A& | T | 7T~8m | 100mfEAX KL — |['2:04.84
FEE PR 2% | A& | T | 7T~8m | 100mEAX KL — |'2:07.17
RA EK 2% | A& | T | 7T~8m | 100mEAX KL — |'2:12.16
PB4 E 2% | A& | T | 7T~8m | 100mfEAX KL — |'1:56.25
=% Bt 2% | A& | T | 7T~8m | 100mEAX KL — |'1:48.67
ML FT AR 2% | A& | T | 7T~8m | 100mEAX KL — |'2:02.32
IR FIX 2% | A& | T | 7T~8m% | 100mEAX KL — |'1:54.86
FE AT 2% | A& | T | 7T~8m | 100mEAX KL — |['1:52.72
na B 2% | A& | T | 7T~8% | 100mfEAX KL — |'1:58.08
RiE ERX 2% | A& | T | 7~8% | 100mEAX KL — |'1:53.36
Bl Rk 2% | A& | T | 7T~8% | 100mEAX KL — |'2:02.80
Rl &% 2% | A& | T | 7T~8% | 100mEAX FL— |'1:57.21
FEH L 2% | B8 | T | 7T~8m | 100mfEAX KL — |['1:53.74
ERFER 2% | A& | T | 7T~8m | 100mfAAX KL — |'1:55.62
X B 2% | A& | T | 7T~8% | 100mEAX KL — |'1:50.73
LA e 2% | A& | T | 7T~8% | 100mEAX FL— |'1:49.51
FH LD 2% | A& | T | 7T~8% | 100mEAX KL — |'1:44.59
Bl P 2% | A& | T | 7T~8m | 100mfEAX KL — |['2:00.44
HE %R 2% | A& | T | 7T~8% | 100mEAX KL — |'1:54.36
BH EFF 2% | A& | T | 7T~8m | 100mfEAX KL — |['1:55.02
aauonl 2% | A& | T | 7T~8% | 100mEAX KL — |'1:48.29
ftH =2 2% | A& | T | 7~8% | 100mfEAX KL — |'1:50.36
ARBTFE 2% | A& | T | 7T~8m | 100mfEAX KL — |'1:38.65
=% Wk 2% | B8 | T | 7T~8m | 100mfEAX KL — |['1:36.94
BRIAEEZF 2 | A | ZF | 7T~8® | 100mEAX KL — |'1:41.57
/NESHEA L 2 | A | ZF| 7T~8m | 100mfEA X KL — |'1:38.82
e B 2 | A | ZF | 7T~8m | 100mEAX KL — |'1:46.68
A ER 2 | A | ZF| 7T~8m | 100mEA X KL — |'1:46.35
TEHE Rk 2 | A | ZF| 7T~8m | 100mEA X KL — |'2:10.45
fBE AKX 2 | A | ZF | 7~8m | 100mEAX KL — |'2:09.29
B #ETh 2 | A | ZF | 7T~8® | 100mEAX KL — |'1:47.39
& OFE 2% | & | &F | 7T~8m® | 100mEAX FL— |'2:15.27
KA R 2 | B | ZF | 7T~8® | 100mEAX KL — |'1:50.99
AV NI PP 2 | B | ZF | 7T~8® | 100mEAX KL — |'1:52.93
LR 2 | A | ZF| 7T~8m | 100mEA X KL — |'2:02.35




Rlg  #H 2% | A& | T | 7T~8m | 100mEAX KL — |'1:59.31
il D& 2% | A& | T | 7T~8m | 100mEAX KL — |'1:58.41
WAT B 2% | B8 | T | 7T~8m | 100mEAX KL — |['1:52.74
THETE 2% | B8 | T | 7T~8m | 100mfEAX KL — |'2:00.46
RN 7375 A 2% | A | &F | 7~8m | 100mEAX KL — |['1:53.76
/NI o) 2% | A& | T | 7T~8m | 100mEAX KL — |'1:54.39
A& BT 2% | A& | T | 7T~8m% | 100mEAX KL — |'1:59.67
MHAREELIZE 2% | A& | T | 7T~8m | 100mfEAX KL — |'1:53.59
hE ZRE 2% | A& | ZF | 7T~8m | 100mEAX KL — |['1:54.74
A BE 2% | A& | T | 7T~8m | 100mEAX FL— |'1:48.31
BRI 2% | A& | T | 7T~8m | 100mfEAX KL — |['1:58.44
BHF IF] 2% | A& | T | 7T~8m | 100mEAX KL — |'1:41.50
RARAE 2% | A& | T | 7T~8% | 100mEAX KL — |'1:48.53
BEH K7 2% | A& | T | 7T~8% | 100mEAX KL — |'1:43.80
N % 26k | BF& | T | 7T~8m | 100mfEA X FL — |'1:54.55
XO BY 2% | A& | T | 7T~8% | 100mEAX KL — |'1:52.39
KE XH 2% | A& | T | 7~8% | 100mfEAX KL — |'1:50.30
FBEB4E 2% | B8 | T | 7T~8m | 100mEAX KL — |['1:51.82
WBHE == 2% | A& | T | 7T~8% | 100mEAX KL — |'1:45.81
PR e 26k | &% | wF | 7T~8m | 100mfEAX KL — |['1:55.54
YR BERE 2% | A& | T | 7T~8% | 100mEAX KL — |'1:56.67
PIH T 2% | A& | T | 7T~8m | 100mEAX KL — |'1:43.27
Bl F 2% | A& | T | 7T~8% | 100mEAX KL — |'1:43.77
ik BAE 2% | A& | T | 7T~8m | 100mfEAX KL — |['1:39.04
aE A& 2% | A& | T | 7T~8% | 100mEAX KL — |'1:47.23
EEmRE 2% | B8 | T | 7T~8% | 100mEAX KL — |'1:49.78
EMF # 2% | A& | T | 7T~8m | 100mfEAX KL — |['1:49.74
LA B 2% | A& | T | 7T~8% | 100mEAX KL — |'1:47.26
FE D 2 | A | ZF | 7T~8® | 100mEAX KL — |'1:46.58
B K 2% | A% | ZF | 7~8® | 100mEAX KL — |'1:50.89
IR ER 2 | A% | ZF | 7T~8® | 100mEAX KL — |'1:47.23
AHBEAEE 2% | B | ZF | 7T~8® | 100mEAX KL — |'1:44.74
FEEEAL T 2 | A% | ZF | 7~8m | 100mEAX KL — |'1:51.80
EFRE AR 2 | A | ZF| 7T~8m | 100mEAX KL — |'1:43.92
LR KM 2 | A% | ZF | 7~8® | 100mEAX KL — |'1:51.03
s —1b 2 | A | ZF | 7T~8m® | 100mEAX KL — |'1:46.31
tE B 2 | A | ZF | 7T~8® | 100mEAX KL — |'1:40.08
= = 2 | B | ZF | 7T~8® | 100mEAX KL — |'1:42.93
FHE A 2 | B | ZF | 7T~8® | 100mEAX KL — |'1:38.70




B KE 2%k | Bt | mF | 7T~8m% | 100mEAX KL — |'1:49.52
ARk Th 21k | Bt | mF | 7T~8m% | 100mEAX FL— ['1:52.84
— Y IHRHDY 2%k | Bt | wF | 7T~8m | 100mfEAX KL — |'1:36.41
R & 2%k | & | wF | 7T~8m | 100mEAX KL — |'1:47.03
=N BE 2%k | Bt | mF | 7~8m% | 100mEAX FL— ['1:58.14
BRWHIE 26k | & | wF | 7T~8m% | 100mEAX KL — |'1:45.20
SH I 2% | B | wF | 7T~8m% | 100mfEAX KL — |'1:43.80
R R 2%k | & | mF | 7T~8m% | 100mEAX KL — |'1:37.76
2 BT 2%k | B | wF | 7T~8m% | 100mEAX KL — |'1:40.47
I HETR 2% | Bt | mF | 7T~8m% | 100mfEAX KL — |'1:39.89
Bl = 26k | & | mF | 7T~8% | 100mEAX KL — |'1:46.79
HitaRE 26k | Bt | mF | 7T~8m% | 100mEAX FL— |'1:44.12
X EF I 2% | & | mF | 7T~8m% | 100mEAX KL — |['1:48.42
IR FE 2% | & | wF | 7T~8m% | 100mEAX KL — |'1:34.67
ok BAE 2%k | B | &wF | 7T~8m% | 100mfEAX KL — |'1:32.60
e =M 2% | & | wF | 7T~8® | 100mEAX KL — |'1:34.28
A= = 2%k | & | mF | 7T~8® | 100mfEAX KL — |'1:32.08
BEHNY 2%k | B | &wF | 7T~8m% | 100mEAX KL — |'1:31.66
mEE AR 2% | & | wF | 7~8m% | 100mfEAX KL — |'1:35.10
=is B 2f% | & | &F | 7~8® | 100mEAX FL— ['1:38.34
RE tB 2% | & | &wF | 7T~8m® | 100mfEAX KL — |'1:39.08
NMF HR 2% | & | &mF | 7T~8m | 100mEAX KL — |'1:34.29
A =R 21k | & | &F | 7~8® | 100mEAX FL— ['1:32.64
B =i 2% | & | &F | 7~8® | 100mEAX FL— |'1:29.62
Ry A 2% | B | &mF | 7T~8® | 100mEAX KL — |'1:16.91
R T3 2% | & | &F | 7~8m® | 100mEAX KL — |'1:28.05
o ML 2% | B | &mF | 7T~8® | 100mfEAX KL — |'1:29.81
AEF O Y 2% | & | &F | 7~8® | 100mEAX FL— ['1:29.32
AREMTE 2% | B | ZF | 7~8m& | 100mEAX KL — |'1:33.50
IR BT 2% | B | ZF | 7~8m& | 100mEAX KL — |'1:36.40
A 7B 2% | B | ZF | 7~8m | 100mEAX KL — |'1:34.96
IR B 28k | A& | &F | 7~8& | 100mfEAX KL — |'1:32.55
VI 2% | B | ZF | 7~8& | 100mEAX FL — |'1:42.89
=RRER 2% | B | ZF | 7~8m& | 100mEAX KL — |'1:30.73
B X 28k | A& | &F | 7~8m | 100mfEAX kL — |'1:25.37




